

数学 B

$$(1) (i) \begin{cases} z = x + iy \\ z^* = x - iy \end{cases} \quad z \text{ と } z^* \text{ あり.}$$

$$\frac{\partial}{\partial x} = \frac{\partial z}{\partial x} \frac{\partial}{\partial z} + \frac{\partial z^*}{\partial x} \frac{\partial}{\partial z^*}$$

$$= \frac{\partial}{\partial z} + \frac{\partial}{\partial z^*}$$

$$\frac{\partial}{\partial y} = \frac{\partial z}{\partial y} \frac{\partial}{\partial z} + \frac{\partial z^*}{\partial y} \frac{\partial}{\partial z^*}$$

$$= i \frac{\partial}{\partial z} - i \frac{\partial}{\partial z^*}$$

z と z^* あり.

$$\begin{aligned} \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} &= \left(\frac{\partial}{\partial z} + \frac{\partial}{\partial z^*} \right)^2 - \left(\frac{\partial}{\partial z} - \frac{\partial}{\partial z^*} \right)^2 \\ &= \left(\cancel{\frac{\partial^2}{\partial z^2}} + 2 \frac{\partial^2}{\partial z \partial z^*} + \cancel{\frac{\partial^2}{\partial z^{*2}}} \right) \\ &\quad - \left(\cancel{\frac{\partial^2}{\partial z^2}} - 2 \frac{\partial^2}{\partial z \partial z^*} + \cancel{\frac{\partial^2}{\partial z^{*2}}} \right) \\ &= 4 \frac{\partial^2}{\partial z \partial z^*} \end{aligned}$$

$$(ii) \quad \frac{\partial}{\partial z} = \left(\frac{\partial r}{\partial z} \right)_{\varphi} \frac{\partial}{\partial r} + \left(\frac{\partial \varphi}{\partial z} \right)_{r} \frac{\partial}{\partial \varphi}$$

$$\frac{\partial}{\partial z^*} = \left(\frac{\partial r}{\partial z^*} \right)_{\varphi} \frac{\partial}{\partial r} + \left(\frac{\partial \varphi}{\partial z^*} \right)_{r} \frac{\partial}{\partial \varphi}$$

$$\left(\frac{\partial r}{\partial z} \right)_{\varphi} = e^{i\varphi}, \quad \left(\frac{\partial \varphi}{\partial z} \right)_{r} = \frac{1}{r i} e^{i\varphi}, \quad \left(\frac{\partial r}{\partial z^*} \right)_{\varphi} = e^{i\varphi}, \quad \left(\frac{\partial \varphi}{\partial z^*} \right)_{r} = \frac{1}{-i r} e^{i\varphi}$$

$$\frac{\partial}{\partial \zeta} = e^{-i\varphi} \frac{\partial}{\partial r} - \frac{i}{r} e^{-i\varphi} \frac{\partial}{\partial \varphi}$$

$$\frac{\partial}{\partial \zeta^*} = e^{i\varphi} \frac{\partial}{\partial r} + \frac{i}{r} e^{i\varphi} \frac{\partial}{\partial \varphi}$$

//

(2) (i) $\omega(r, \varphi) = R(r) \Phi(\varphi) \quad \alpha \geq 0$

$$\Phi(\varphi) \frac{\partial^2 R}{\partial r^2} + \frac{\Phi}{r} \frac{\partial R}{\partial r} + \frac{R(r)}{r^2} \frac{\partial^2 \Phi}{\partial \varphi^2} = 0$$

$$\Phi \frac{\partial^2 R}{\partial r^2} + \frac{\Phi}{r} \frac{\partial R}{\partial r} = - \frac{R}{r^2} \frac{\partial^2 \Phi}{\partial \varphi^2}$$

$$\frac{r^2}{R} \frac{\partial^2 R}{\partial r^2} + \frac{r}{R} \frac{\partial R}{\partial r} = - \frac{1}{\Phi} \frac{\partial^2 \Phi}{\partial \varphi^2} = \alpha$$

∴ $\alpha = \alpha_1^2$

$$\left\{ \begin{array}{l} \frac{\partial^2 R}{\partial r^2} + \frac{1}{r} \frac{\partial R}{\partial r} - \frac{\alpha}{r^2} R = 0 \\ \frac{\partial^2 \Phi}{\partial \varphi^2} + \alpha \Phi = 0 \end{array} \right.$$

∴ $\alpha \geq 0$

(ii) (v) $\Phi = A e^{-i\sqrt{\alpha}\varphi} + B e^{i\sqrt{\alpha}\varphi}$ $\alpha \geq 0$

∴ $\Phi(2\pi + \varphi) = \Phi(\varphi) = 1$

$$\Phi = A \underbrace{\left(e^{-i2\pi\sqrt{\alpha}\varphi} \right)}_1 e^{-i\sqrt{\alpha}\varphi} + B \underbrace{\left(e^{i2\pi\sqrt{\alpha}\varphi} \right)}_1 e^{i\sqrt{\alpha}\varphi}$$

∴ $\alpha \geq 0 \quad \sqrt{\alpha} = m \quad (m \text{ は整数})$

$\alpha \geq 0 \quad a = m^2$

∴ $\alpha \geq 0 \quad \alpha \geq 0 \quad \alpha \geq 0$
 同い。 $\alpha \geq 0 \quad \alpha \geq 0$
 重複して。

(iii) $R = r^\lambda$ ए (सिद्धि 3.2)

$$\lambda(\lambda-1)r^{\lambda-2} + \frac{1}{r} \cdot \lambda r^{\lambda-1} - \frac{1}{r^2} \alpha \cdot r^\lambda = 0$$

$$\lambda^2 - \lambda + \lambda - \alpha = 0$$

$$\lambda^2 = \alpha$$

$$\lambda = \pm \sqrt{\alpha}$$

$$\therefore R = r^{\pm \sqrt{\alpha}}$$

(iv) $u(\cos \varphi) = 0 \neq 1, R = r^{-m}$

$$u(r, \varphi) = \sum_m a^{-m} (A_m e^{-im\varphi} + B_m e^{im\varphi})$$

$$= \sum_m a^{-m} A_m (\cos m\varphi - i \sin m\varphi) + a^{-m} B_m (\cos m\varphi + i \sin m\varphi)$$

$$= \sum_m a^{-m} (A_m + B_m) \cos m\varphi + i a^{-m} (B_m - A_m) \sin m\varphi$$

$$= \boxed{a^{-1} (A_1 + B_1)} \cos \varphi + \boxed{i a^{-1} (B_1 - A_1)} \sin \varphi$$

$$+ \boxed{a^{-2} (A_2 + B_2)} \cos 2\varphi + \boxed{i a^{-2} (B_2 - A_2)} \sin 2\varphi$$

$$\left[+ \boxed{a^{-m} (A_m + B_m)} \cos m\varphi + \boxed{i a^{-m} (B_m - A_m)} \sin m\varphi \right]_{m > 3}$$

$$2A_1 a^{-1} = 3$$

$$2i a^{-2} B_2 = 5$$

$$A_1 = \frac{3a}{2} = B_1$$

$$B_2 = \frac{5a^2}{2i} = -A_2$$

$$\text{Hence } u(r, \varphi) = r^{-1} \left\{ \frac{3a}{2} \underbrace{(e^{-i\varphi} + e^{i\varphi})}_{\cos \varphi} \right\} + r^{-2} \left\{ \frac{5a^2}{2i} \underbrace{(e^{i\varphi} - e^{-i\varphi})}_{\sin 2\varphi} \right\}$$

$$= \frac{3a}{r} \cos \varphi + \frac{5a^2}{r^2} \sin 2\varphi$$